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Phys 112 Spring 2019

Question 1

A loop is stationary in a region of uniform
magnetic field. The magnetic field increases
as time passes.
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At the instant depicted in the illustration the
current in the loop is:

1. Counter-clockwise

2. Clockwise

3. Lero

4. None of the above/not enough info.
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Question 2

A loop is stationary in a region of uniform At the instant depicted in the illustration the
magnetic field. The magnetic field increases force exerted by the magnetic field on the
as time passes. loop is:

R R L F=0

¥ QX S 2.13"7£Oindirection—>.

y @O e e 3.13"7£Oindirection<—.

R R RIO® j

QR R R —— 4. F = 0 in direction out of screen.

X0 5. F =# 0 in direction into screen.
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Question 3

A loop is placed in an external magnetic Which of the following is true regarding the
field. The flux through the loop as time magnitude of the induced EMF, £7
passes is plotted below.

1. & is largest from Os to 2s.
® in Wb 2. & is largest just after 2s.
10 + 3. & is largest between 2s to 5s.

4. & is largest just before 5s.

5. &£ is largest from 5s to 7s.
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